
1

ULTRATECH
INTERNATIONAL, INC.

Assembly Instructions

Ultra-Hard Top P4 Plus
Part No. 9636 / 9637

UltraTech International, Inc. · 11542 Davis Creek Court, Jacksonville, Florida 32256 USA 

(800) 353-1611 · 1-904-292-1611 · spillcontainment.com

Parts List

Diagram #

(See next page)

Quantity Description

1 2 Sidewall

2 2 Roll Top Door

3 1 Heavy Duty Pallet Sump W/Grates

4 2 Right Door

5 2 Left Door

6 1 Roof

7 4 Hinge Pin Tube

8 2 3/8”-16 UNC x 61-3/4”L Threaded Rod

9 3 3/8”-16 UNC x 63”L Threaded Rod

10 6 1” Diameter Flat Washer

11 4 1-1/2” Flat Washer

12 5 3/8”-16 UNC Acorn Nut - 5/8” Hex – 

Attached to rod

13 5 3/8”-16 UNC Nylon Locknut

14 2 57” Long Plastic Rod Cover (Not Shown)

15 5 Plastic Rod End Caps

16 1 Silicon Caulk

REV 12.08.17

Note:  2 people will be required to assemble unit

Tools required:

• 5/8” Socket & Ratchet

• 9/16” Deep Well Socket & Ratchet

• Caulking Gun



2Ultra-Hard Top P4 Plus Assembly Instructions

1

2

2

7
6

4

1

3

5

5

7

7

7

8

9
12

10

11

10
13

13

1515

15
13

11

13

15

12

12



3

Assembly Instructions

Step 1     Place a 1-1/2” diameter flat washer (11) over the end of the 61-3/4” threaded rod (8).  
Slide the flat washer to the end of the rod with the 5/8” acorn nut (12) attached.  Repeat 
this step with the remaining 61-3/4” threaded rod (8).

Step 2     Place pallet sump (3) on a flat surface.  Place a sidewall (1) on each side of the pallet 
sump. With someone supporting the sidewalls, align the cutouts on the side and cor-
ners on the pallet sump with the mating features on the sidewall.  (Note: If the pallet 
sump has a drain make sure it is facing front and not being covered by the sidewalls).

Step 3   Slide the end of the 61-3/4” rod assembly through the hole at the bottom of sidewall.  
After passing the rod through the sidewall 2” or 3”, place the black plastic rod cover 
tube (14) onto the end of the rod.  Slide the rod through the cover tube and through the 
corresponding hole in the opposite sidewall.  Place 1-1/2” diameter flat washer (11) and 
a 3/8” locknut (13) on the end of the rod.  Just start the nut about a ½” on the rod.  (DO 
NOT TIGHTEN).  Repeat this step for the remaining hole at the bottom of the sidewall  
(Note:  Always enter the rod from one side of unit so the all the acorn nuts are on the 
same side). 

Ultra-Hard Top P4 Plus Assembly Instructions



4Ultra-Hard Top P4 Plus Assembly Instructions

Step 4   Place a 1” diameter flat washer (10) over the end of the three 63” threaded rods (9).  
Slide the washers to the end of the rods with the acorn nut attached.  Using the same 
sidewall that the acorn nuts are on, pass one threaded rod through one of the outside 
top holes in the sidewall and though the corresponding holes in the opposite wall.  
Place a 1” diameter flat washer (10) and a locknut on the end of the rod.  Just start the 
nut on the end of the threaded rod.  (DO NOT TIGHTEN)  Repeat this step for the re-
maining outside top hole in the sidewall.



5

Step 5   Thoroughly caulk both sidewalls in the mating channels and rectangular cut for the roof 
features.  Caulk as shown in the illustration.  

Step 6   Place the roof on the top of and between the sidewalls.  The top should drop down into the 
rectangular cutouts in the sidewalls.  Slide the remaining threaded rod assembly through 
the remaining peak hole in the side and through the mating holes in the roof peak.  Then 
slide the rod through the corresponding holes on the opposite side of the roof and side-
wall.  Place a 1” diameter flat washer (10) and a locknut on the end of the rod.  Just start 
the nut.  (DO NOT TIGHTEN)

Ultra-Hard Top P4 Plus Assembly Instructions



6

Step 7    Place the top left edge of the roll top door (2) in the track in the left sidewall.  Then place 
the right top edge of the roll top door to start into the track of the right sidewall.  Push up 
on the bottom of the roll top door.  This will feed the remainder roll top door edge into the 
tracks.  Repeat this step for the opposite side.  (Make sure that the roll top door on the 
opposite side is in the closed position.)

Step 8   Tighten each outside top rod, by holding the acorn nut and turning the locknut until you 
visibly begin to see the edge of the roof line bow.  While tightening make sure that the 
tongue on the roof edge is inserted in the corresponding wall groove.  Then tighten the 
peak rod until you visibly see the peak roofline begin to bow.  (DO NOT OVER TIGHTEN 
RODS)  Inspect roof seams to make sure they are thoroughly sealed.  Additional sealant 
maybe applied from the top if any voids are noticed in the rectangular cutout area.  Wipe 
off or smooth out any sealant that may have squeezed out of the seams.

Ultra-Hard Top P4 Plus Assembly Instructions



7

Step 9   Align the right door (4) hinge with the mating hinge on the sidewall.  Align the door hinge 
pin holes with the hinge pin holes in the sidewall.  Slide the hinge pin tube (7) into the 
aligned holes (Note: It may be necessary to move the door and tap the hinge pin tube 
with a hammer until the hinge pin tube is fully seated all the way through the hinge holes.)  
Repeat this step for the remaining right door (4) and to the remaining left doors (5).

Ultra-Hard Top P4 Plus Assembly Instructions



8

Step 10   Tighten the bottom threaded rod (8), by holding the acorn nut (12) and tightening the 
locknut until the gap seen between the 2 doors at the bottom is about ½”.  Repeat this 
step for the other set of doors.

Step 11   Place the black plastic rod end caps (15) over each of the exposed threaded rod ends 
on the locknut side.

The Ultra-Hard Top P4 Plus is now ready for use.

UltraTech International, Inc. · 11542 Davis Creek Court, Jacksonville, Florida 32256 USA 

(800) 353-1611 · 1-904-292-1611 · spillcontainment.com
REV 12.08.17


